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Time - 2 Houks ) : CMaoaximum Marks @ 37

(Write vour Roll No. on the top immediaiely on receipt r))’ this question puper. i
Note -— (/). Answers may be written either in English or in Hindi;
but the same :‘ne_dium should be used throughout the

‘paper. |
(¢i) The maximum marks printed on the question paper are
applicable for the students of the regular colleges (Cat.
A)."These marks will. .I]owevc‘r be scaled up-
propoﬁionately in respect of the students of NCWEB

at the time of posting of awards for compilation of result.
Atlempt any four questions.

Q. No. I is compulsory.
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Give the formula for calculating standard deviation, when

deviations are not taken.. 2

Why mean deviation from median is lcss than the mean

deviation from the Arithmetic mean. 2

The range, standard deviation. and coefficient of

-variation.ofa-set of 20 values are 10, 5 and 25%. How

would these result be affected if each value is multiplied

L~

by 5 ?

Given that the regression equation of Y on X as
45X - SY + 15 = 0. Calculate regression coefficient of

Y on X, B
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" Determine the c¢lass: intervals.
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Write: notes on .absolute and refative dispersion. 3

Mean and’ standard deviation of the following continuous

series are 31 and 15.9 respectively :
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(@)  Give any three properties of standard deviation. - 3
(5} In a batch of 20 students, 4 failed while 7 bassed with

distinction. The remaining students who passed
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ordinarily scored in the 'i'ollowing marks :

47, 52. 49, 57, 52, 38. 66. 64. 59,

. The students who faited scored 23 marks on an average

(%)

(@)

and those who passed with distinction scored 76 marks

O an -average. With this information You are required

to find the Median and Mean marks of the class. 7
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Give any rhree propertics of regression coefficient. 3

While «calculating correlation coefiicicnt the fotlowing

results  were obtained :

N = 25, X = 125 vx2 =725 XY 7 100,

3y = 460, TXY = 508

However it was later discovered that a pair (X = 14,
y. = 6) was copied wrong while the correct values were.

(x = 12. Y = 8). Find the comect correlation coefficient. 7

N = 25, £X = {25, yx2 = 725, Y = 100,

v y? = 460, Exv = 508
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‘Give any rhree properties of coefficient of correfation. 3

Given the regression equations : 7
2:X+3Y~8=U.2Y+ X=5=10

and variance of X = 4, |

Compute :

- Coefficient of corrclation between X and Y

(ih- The value of X when Y = 18

© (i) Standard deviation of Y.
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(¢ Write a short note on test of adequacy of Index Number
Fonmulac. 3

(A)  Fit a-non-lincar trend cquation from the following data

taking 2009 as origin : 7
Year Sales in lakhs’
2007 1.0
2008 | [.5
2009 1.5
2000 . 25
010 35
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2007 1.0
2008 s
2009 |'.5
2010 o 25

2011 3.5
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Differentiateé between seasonal variations and cvelical

variations.
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From the following data, compute guantity index numbers
for the current yéar by Fishu:'s method 7
Base Year

Current Year

Commodity Prices | Quantity

Prices Quantity

{Rs.} {units}) - {Rs.) {units}
A | b 5 8
!
B 2 7 4 7
C 3 8 3 6
D 4 7 2 5
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A 1 ) 5 8
B 2 7 4 7
C 3 ] 3 6
D 4 7 2 5
10 3,000



